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Multiplication with Helper Grid

Name:

Solve each problem.

1)
8 5
x 9 0
+
3)
8 5
x 6 2
+
5)
3 4
x 4 0
+
7)
9 6
x 2 2

2)
6 4
x 5 9
+
4 8 1
x 1 4
+
6)
6 6
X 6 6
+
8) 3 0
x 1 2

Answers
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ﬂh Multiplication with Helper Grid Name._Answer Key

Solve each problem. Answers
1) 4 2) 2
x 9 0 6 4
716150 ¥3/2/0/0 > ’
3/7/7 6
4 1,134
5, 1,360
K 2 K 8 1 6 4356
8 & x 1 4
< & 2 3124 7 2112
TT=To +/8 1 0
11134
+5 1,00 8. 360
5270
5) 1 6) 3
3 4 3
x 4 0 6 6
0 X 6 6
+1/3/6 0 3|96
T3 6 0 +3/9 6 0
43 5|6
7) 1 8) 3 0
1 x 1 2
9 6 i
x 2 2 +#30 0
19 2 =60
+1/9 20
20112
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